7352 PR

1 AU EE R IR F AN~ m B B 8RR B B BAN, WRVARIEEFTE. REMMRINAG B E
AIFNOEMEEZ, BITEZERR,

2 AT AP EIBRF M R R XEIRFMEIPENE, HENESWEIAFEIR, ZFXT
ZERMEREN, FNBAEEEEIRLENFY, BIGEEUEXERASEUER
BERBENER.

3AULRMHA S RER, KRB ANEAZFNECAENOERESE, HNEEFETHE
MENES, BiIGREMHIEHEHIRT,

AMBESRNBER, BRI EEImarketing@iczoom.com, TRUBINE “SIEFM” FHE

Read Statement

1. The datasheets and other product information on the site are all from network ref-
erence or other public materials, and the copyright belongs to the original author and
original published source. If readers and copyright owners have any objections,
please contact us and we will deal with it in a timely manner.

2. The Chinese datasheets provided on the website is a Chinese translation of the En-
glish datasheets. Its purpose is for reader’ s learning exchange only and do not in-
volve commercial purposes. The translation cannot be automatically updated with
the original manuscript, and there may also be improper translations. Readers are
advised to use the English manuscript as a reference for more accurate information.

3. All product information provided on the website refer to solutions from manufac-
turers’ technical support or users the contents may have differences in description,
and readers are advised to take the original article as the standard.

4. If you have any questions, please contact us at marketing@iczoom.com and mark
the subject with “Datasheets” .

Downloaded from www.iczoom.com



pescrIPTION: R/A .545 FOOTPRINT MACHINED -

UL LY

[ ff J

PIN #1 \1200 (TYP.)
[ 2 000000 ,,00000000 ‘
-$‘ Y’OOOOOOO?;OOOOOOQ@]/E

\
Cc

+.010

.109
2.77
+.004

(TYP.)

SPECIFICATIONS:

MATERIALS:
SHELL: STEEL, TIN PLATED
INSULATOR: UL 94V-0 RATED BEIGE PBTP
260°C PROCESS TEMP.
CONTACTS: BRASS
RoHS COMPLIANT

ELECTRICALS:
CURRENT RATING: 5 AMPS
CONTACT RESISTANCE: 15 mOHMS MAX
INSULTOR RESISTANCE: 1000 MOHMS MIN
VOLTAGE: 500V AC FOR 1 MINUTE
TEMPERATURE: -50°C TO +100°C

FEMALE| A B C E _ F G
9 1.213|1.984 | .494 | .030|.243 (0.436
f_“ 30.81|124.99112.55 | 0.76 | 6.17 11.07
CTE= 15 1.54111.312[.494 | .030|.243 |0.763
L) 39.14|33.32(12.55| 0.76 | 6.17 [19.38
—~— 0230 o5 [2.088/1.852 |.494 |.030 |.243 |1.308
545 53.04147.04 12.55 |0.76 [ 6.17 |33.22
— ‘i384 —— 37 2.729(2.500] .494 |.030 [.243 [1.962
. 69.32| 63.50(12.55]| 0.76 | 6.17 [49.83
50 12.635] 2.406[.605 030 [.243 [1.744
—»| |=— F 69.32/61.11(15.3710.76 [6.17 [44.32
i) 120 @
o .160
4.06
E —|j——
.112 QE)DDDODOO o 0
584 ( ) 0.109 —=]| 0112
176-XXX-212RXX1 041 &
ESEIHE%NS 1 (9, 15, 25, 37 POSITIONS)
GENDER
1 = MALE
2 = FEMALE
TEIOY, e
SHELL PLATING G
2=T|N -$- ¢|:o_oooooooooa—
HARDWARE OPTIONS Soooeeceneee——6 }
00 = NO HARDWARE 0.109 —=] |=— 0.112
25 = LONG BRACKET WITH 4-40 SCREW
15 = LONG BRACKET WITH 4-40 SCREW LOCK (50 POSITION)
PLATING OPTIONS

1= GOLD FLASH

ARE THE PROPERTY OF NorCom
SHALL NOT BE REPRODUCED, C

2 =30 MICRO-INCH GOLD
OR USED AS THE BASIS FOR THE
MANUFACTURE

WITHOUT WRI'I'I'EN PERMISSION.

THESE DRAWINGS AND SPECIFICATIONS

AND [ WAYNE ROBBINS
PIED

F SALE OF APPARATUS

DRAWN:

DATE:
9-17-05

CHECKED:

DATE:

NorComp

SCALE:
1:1

SHEET O{'

DWG NO.

176-XXX-212R001




DESCRIPTION:

1737174 SERIES

v— 123
]

— (—=— 137
e ~=— ,305

———— MOUNTING BRACKET
640

1757176 SERIES

v— 125
|

—p = 157
- — ~— 305

|f\
N

—] MOUNTING BRACKET
815

MATERIAL:
COLD ROLLED STEEL

PLATING:
CLEAR ZINC

HARDWARE OPTIONS

REPLACE —-XX IN LAST 3 DIGITS WITH OPTION CHOSEN

1737174 SERIES

1737176 SERIES

14X = SHORT BRACKET & 4-40 FEMALE HEX SOCKET
24X = SHORT BRACKET & 4-40 SCREW

15X = LONG BRACKET & 4-40 FEMALE HEX SOCKET
25X = LONG BRACKET & 4-40 SCREW

L

THESE DRAWINGS AND SPECIFICATIONS
ARE THE PROPERTY OF NorComp AND
SHALL NOT BE REPRODUCED, COPIED
OR USED AS THE BASIS FOR THE
MANUFACTURE OF SALE OF APPARATUS
WITHOUT WRI'I'I'EN PERMISSION.

DRAWN:
PAM JENKINS

DATE:
2-20-02

CHECKED:

DATE:

NorComp

SCALE:

SHEET

OF REV

1

DWG NO.

R/A BRACKET OPTIONS FOR MACHINED CONTACTS




